—ETYE (—EBYIMZABE) T491—0905 —E i EF-13-21
20254 T HER W & E Tel :(070)4100-2157
= AR e A R &47 # 4 = % T B
2 K| EFHRRE OF—208) |— B W 7 = A $[4/90K)
6 B | &EFEARRS (RO |— = i 7 = 2 $4/13(H)
RTFE L s | x| BRELF —2k&] |- 5 1 7 = 2 B8
19,20 | - A | [ERBEERIBFER] [~ = H1 7 = X Bl4/271(8)
26 + RIS TEEWE |- w7 = 2 ${4/200K)
4 | [EmBohEREE] |- = h 7 = 2 B5/11(H)
. 13,14 | k-K|[[2BARALTA—XEFE] [~ & fi 7 = X 5[5/200K)
25 A [LEBESTHREES FERT) ] NG 6/1(H)
31 +  |[RiEEFHER=] — B W 7 = % Hle/T(h)
) 3 Ko | EBRLF—2yTT=2ka]— B T 7 = A $5(6/10(0k)
4 K| —EHsTT AR CF—2om) | B T T = A 55]6/110K)
5 + [~ parErRs] |— & 7 = X | 7/6(H)
7 12 + | [EmREReRERS] | ' m 7 = A H[7/13(R)
30,31 | K« K| [BmARERREHRERS] |— & W 7 = 2 H|8/1(&)
o 10 B |EF/7h =2k (Ko [— = §1 7 = R | s
24 H [|[[ergesEccEmAmgmEtn] | — 2 i 7 = X | 8/31(R)
6 + [ MEHRRE(PFEEOR) [~ & W 7 = A $|9/13(1)
9 10 Ko BV 4 —ARS — B W 7 = % Hl9/170k)
27 + [—Emh e ARER2] |— & i 7 = % H|10/5(H)
4 + [—EmfhEEmARERR] |— & i 7 = X 5 10/50R)
0 12 B | KETRRS(EOE) |— & i 7 = =2 | 10/2600)
18 + (FEREIPEY 7 F7-2BB2) [~ & 1 & & K F & -
21,22 | k- k| [BRMILTA—ZXKRK] [~ & @ 7 = =2 #5[10/280k)
5 Ko KEHRASCT—208) [— = 1 7 = A Hl11/190k)
. 8 + ([BEBERERSHTARS] [~ =7 7 7 = =2 Hluas)
11,12 | k- K |[RX /v Fr—2KE] — o\ M T = 2 $B11/18(Kk)
24 A |wbvGekiyszxyrrr=aka |~ ® O oR A Kk F M -
12 14 I CLESP NS — 5\ 7 = 2 l12/2008)
2.3 | & b | HEITWO RS uo o o= — K -
R84 4 H [#EFEOBRS — B R A K F -
1 18 A | 3xos 2 mRiE ks | b 0 & % b ok 7 7 ¥ -
25 H AR RFRIEL T A—ARZ | B 0 A R R T TP -
1 A |&F/7hr=2ka (o) |— 2 W 7 = A | 2/8(H)
2 11 A |[EMENFEACRTIRFHE] - = B & K F & -
22 B |REmXARGFEUEREHRER | b 0 2 X b Rk 7 T ¥ -
X 1 A | 6777 xtike — m i T = A B30
14 + | HREY2=THERS w7 = A 5]3/20(4)
[ s ok J2BRE—E 30 M FEORE ITHELCHEE




